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1. Solve the equation O l. ‘f((: ~HX = 7X TRFIX - /o Ory

46-46x=(7x+Hx-1) O = Tx —Qx-s ~¥G <
O = Tyl +42X —44
The solution set is { }-

{Use a comma to separate answers as needed.)

O=T(x“t6x-7)

Answer: 1,-7 (7 T — ()<)<+—()
ol ot x~[To 0O« Xr7 =2
o X~(+L.Z0F) O0R Xt2=7= %

ID: 1.5.13 A=D '//OfL_X"'— 5

2. Solve‘t‘pe equation by the method of your choice. | \/ i fl/ (28] v e QbLa /(}:Ll./z—’:_\

vew R = Sy S X7 = O e

zx-nxg 2, b~“ =2 | )(—:/,‘_ﬁ__’_L

The solution set |s
e an exact answer,usmgmdmalaﬂa_neede Use a comma to separate answers as needed )

o Q(——e-* =TSN _/i/J ot =

nswer
7 - e - 6

X:~(:n¢f/(_-/u -Wz)ﬁu))( _i O( X’ 'A/SL/’/

2(z2) (“
D188 = WHV/ei+ [iF /@ '(6(’ (Z.V .
P —entovv———

e

3. Salve the glveq-:rad ical equa cal equatic (Check all propose&solﬁgons T
U3rzg / %)
\/3x+28-x+8 BX—szr ()(—f@ 6(""7/

Select the correct choice below and, if necessary fill in the answer box lo complete your choice.

3 X Z.B"'— X+ XA~/ XT 6
T A. The solution set is { 3 ;}\3 { /61 §F

(Use a comma to separate answers as needed.)

T) B. Thereis no solution. (J < ,\/ —f/g/{-—fGV“g/( —27
O =X 413X +36

Answer: A, The solution set is { -4 }.(Use a comma to separate answers as needed.)

O=(x +* ¥)(X* )
ID: 1.6.15 X“+Y =0 ot X+7+= O

o _f_(/ 4 o O KE7=7 =0
Yf’?ﬁgﬁﬁ e IXt2f = ez
U3x~<25 =< X+& V369027 ~V+g |
Ud-g+2y = 0+ U212 =~y z/
U 2r2g = ~F+47 [= ~/  GuSer
Vz = & /

“ ol s PAD -
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The graph and equation of the function f are given. f(x) = 2x3 +3x% - 12x + 4
a. Use the graph to find any values at which f has a relative Y
maximum, and use the equation to calculate the relative {e( &

maximum for each value. g eﬂ.lw
b. Use the graph to find any values at which f has a relative SN S

minimum, and use the equation to calculate the relative /

L (e { b .
;‘5):5) P

~[-5.5.1] by [ - 30,30,3] é’

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice. ¢

minimum for each value.

() A. The function f has (a) relative maxima(maximum) at and the relative
maxima(maximum) are(is)
{Use a comma to separate answers as needed )

") B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

[} A. The function f has (a) relative minima(minimum) at and the relative
minima(minimum) aref(is)
(Use a comma to separate answers as needed )

() B. The function f has no relative minima.

Answers A,
The function f has (a) relative maxima{maximum) at -2 and the relative maxima({maximum) are(is)

F e |

(Use a comma to separate answers as needed.)

A

The function f has (a) relative minima(minimum) at 1 and the relative minima(minimum) are(is)
-3 |

{Use a comma to separate answers as needed.)

Mo5¢ a« ___ifc.‘,ﬂ}lﬂ; /C /c_,..l[/ (13(\-6_

ID:2216__ Jl ;b( 3 —[f 3 )( ;Lé,f:bgg >

wm u{ou»

A= = = M s = 62/2?) (//
b’

y X’MQ{ _ 5__ o e
F{/ q(nv( l/""*\ £

ll qu;*-. = =30
\ Y-m = 39
N

—

S
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5. The domain of the piecewise function is ( = co,00). X+5 if x< =3
n(giap the function f(x) .
b. Use your graph to determine the function's range. x=5if xz =3

a. Choose the correct graph below.

b. The range of f(x) is . .(Type your answer in interval notation. ) &Wﬂ W TH .

-

—— R P2 R = (x<-3) QP Cucly)

200 A4

/
X=Z-3) Close C;}c}/
S

—

3

6. x +h) - f(x
Find t@eLer_lEquotuent of f, that is, fi {J ﬂ#o for the following function. Be sure to simplify.
fx)=x% - 2x + ?\\

f(x + h) — f{x)

. = | (Simplify your answer.)
Ftth) — ‘/5?
Answer: 2x+h-2 h
e st ) (¢ 2ird)
ID: 2.2.61 [A o

Q(iéj(g,,ﬁ;/—— -—24 -f‘g ""A/ —eK~6 | -

XCtxchot xhot ht —2y—2h -6 =X —+2x—¢

h

(Crgh oh'—px=24¢ C~x 2t~ ¢
L /’ /

SESE st 6152019, 8:37 AM
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7.
Use the graph of y = f(x) to graph the function Choose the correct graph of.-g-be

g(x)=f(x-2)-2.

y =1(x)

St

0
oy

56)= X</
Shiz X rom T

Answer:

ID: 2.5.21
e T e - —— S— e e ————
—
8. Find the’domain of the funclio.
fx) = /T8 = 2x

What is the domain of f?

{Type your answer in interval notation.)

Answer: (- c0,9] ;(} :(//_7—'\2:
Asd [F=1X = O
ID: 2.6.23 /(/ﬁ_ X —( X = o—(

VX2 Y e o .
~ 2% o -7 (e by a« megedion
T S E0 S llisiti around)

4ofl3 i 6/15/2019. 8:37 AM
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¢ SI) = L2

(/Oj/ (3) e —(3) - (3 )~ L

G5/ )= ~10)) —)-1

9( For f(x) 2-xandg(x)= = 4’ +x+4 f nd the following functions.

(@ (Fog)a; . (@o Do c. (093 & @06 %jM_

a. (fog))= ( 21~

{Simplify your answer.) )?/(‘tf,\/ +x+q)" A)/p/ ~ "36—3 oI VJU‘?

b @on=_______ |2~ (wt-w(-w)' /Oj/b”/'" —-4:/) ‘/

{Simplify youranswer) 2 (f( i (”"f

c- :gg 227 eI 4yt @

I j(,éz)y 9 F2) T g 20
5(2—75 0F)(3) =3y

ANSWETS - 42 — =2 Z ,()_+(2__>().(.$,, / /3) /7('5’/"!"21.

d;‘)()] 705y =73l ¢ 7

4t -17x+22 C/(Z-:-f)(Z—;-L) + (t-xIry =
J’[)ﬂ/ 36 — }“/-f 2L

o T —lt—ra4xY)  (Ex)7G
: (¢ —dx (2=
*/5 /6 X —rwl—ﬂ — ¢

ID: 2.6.59 .-"( 4‘,\/ —{(7 >(—r2£ T ac

=

10. Find theetween the pair of points. (27 7 ) (h._/ 20) /éj
(8.7) and (20,16) )(| L b’L_
The distance between the points |s umts

(i:r: :0 :\:o decimal places as:eded; J{ ot a mw‘m x4 ( Y/ . (=
t Cacw T T
’ "V (G) = (2))? +((7v) 2

1D: 2.8.1 — (/QD
g :
( 2 "+ (7 ~6) ©

44(34%& @9 g ——
| Hana = (//5‘977‘ ¥
(‘.ricm_,c,‘z VMS—

@'*““t@ 7

SN— /

disdenc =

[

—

Anfi3 6/152019. 8:37 AM
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11, o e N
CCnmplete-th&aqy_g_re and write the eguatian ofthe circle in T}-
10

_standard form. Then determine the center and radius of the

“circle to graph the equation. aj.r

X2 +y2 +10x+ 6y +25=0 / 6
L - —

X “ttox —+ Y Zf' ;

The equation in standard form |s
(Simplify your answer.)

rrrrr

Use the graphing tool fo graph the circle.

ot (409)° 7 oy (4 fa))-——Zr—r ey (f(é
X rox —r(r) T9 +67—,~(3/ = =2+ ($) -fﬁ]L ‘
%owa ¢ ‘—f"c?""z,d/——fbr—f—‘} o
(e ) xe) + 9+ (9+) = 9
AnSWers (x + 57 + (y +3)" =9 (xes) -f(’(ﬂ"("f') 7

iof” Lewvtrent - _/L)
3 4/((%) M—\ — 3

ID: 2.8.53

faflt 6/15/2019, 8:37 AM
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12.
Use the vertex and intercepts to sketch the graph of the j“'
quadratic function. Give the equation of the parabola’s axis 184
of symmetry. Use the graph to determine the domain and 164
range of the functi 14

— A S 124
Qx)-t#x-x:_z//j }
10

.

Use the graphing tool to graph the equation. Use the vertex 8

and one of the intercepts to draw the graph. 6+

The axis of symmetry is 4

(Type an equation.) 2] x
The domain of the function is : 0 8 6 4 -2 '_2: "2 4 6 B 10
(Type your answer in interval notation.) ]

The range of the function is &l

(Type your answer in interval notation.) b

\/em/é'j/ )
YASK )
(2,16)

."-H-H-Ff

Answers

16

4 2 {
-2
i
_d_,..-o-"'"'a"t_ -
x=2

e A\ Y 2 W——x% /y

{~o0,16]

ID:3431 W _f_"_l.L/ﬂM-i--ﬂ___

{—ran = "‘/ﬁ?.'; —
X— e =/ "
7-'—-/77&1 = ‘—/9

7"//""”( =/

Tal13 6/15/2019, 8:37 AM
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13. Consider the function f(x) = - 3x + 12x -8

. i,
) . . ) - . SR

a. Delermine, without graphing, whether the function has a minimum value ona maximum value.

b. Find the minimum or maximum value and determine where it occurs. -

¢. ldentify the function’s domain and its range.

a. Thefunctionhasa (1) !value.

b. The minimum/maximum value is { It occurs at x=

c. The domain of fis . (Type your answer in interval notation.)

The range of fis ! {Type your answer in interval notation.)

{1} ) maximum féu// a— ' L._’L /2 ’(’—Y
) minimum a _3 b ‘-— l?—j C o
Answers (1) maximum

BVAE (/w(‘(,a / ))

(- c0,00) fof)& = /_(/2) (/L)

S 2(——3) é})

Vicex — /—12
ID: 3.1.41 7 / /( g/)
W/Lf’?\ - / 2, /(’l))
Vekex = (2/ ~2(2)°¢ +/2(0)—17)
=(2, -—3(2)(@—/‘(2(2)-—8)

Ralfli 6/15/2019, 8:37 AM
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f(x) = 3%° — 7x? = 75x + 175

i —— e s eei———

a. {Llst all ratmnal ‘qequ?jthat are possible accofquto the Ratlonal Zero Theore;n Choose the correct a r below.
O A. ¢1¢5¢1017¢351175¢l 5:«—133;1135 175 /73
B T ' Eptytyty 3 * 3 3)’“
O B. :11311 2 en itltiiltit-Lti
5 125t o5t 7 ¥ 7 35 35 T 175 T 175
OcC 21 t3.tl,ti 1-1—11 tl,ti,t 1 ii 1—1— ti l
' 57571077 10" 77777 356" 175"

“w

1748 152573;5 1751525735 175-_.2- /757 $°57
u 1,235, 2100, 23, 83,2 g 2302
b. U(sfy;thét-i;:_divisTo_ﬁ b test several possible rational zeros in order to identify one actual zero.

One rational zero of the given function is
{Simplify your answer.)

¢. Use the zero from part (b]ﬁ:ﬁr_:i'_ all the Peros oPthe polynomial function.

The zeros of the function f(x) = 3x> - 7x? - 76x + 175 are .
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed.)

Answerso.:1,:5,125,17,:35,:175,:%,:%,1?.1%,:«?’3—5 :% E_—'{_—%-L: /
7 CHL T, f? t;r fbr 'f’l?. 3
3
7 =i j—i‘_’f / i e
e . SR S v X =
55' J Wtf t7 +2"' T3‘ -‘7."/ —_{-3‘-_3- S"—_)—% Tl 3,
15 “_5_*'_'——“—- Br/ VRS T3
ID: 3.4.11 p T4 edee :ll Vi3 T e /
S fl'_ _—ﬁ—ﬁ::——-—-“"’”ﬁ 2 _ = &m‘“_-..,x 1_:,_!._?_{.—-___

${ 3 ~7 =7 /7r
‘j /0—' ?O__,,_ZA—-

3 ¥y 35 @ re=
3xtpi(~35 =0
(3x — 1) + ) =0
~7=0 9% X5~
w-2+1707t] O yogoy-

N

e
ANS s
A

——— 6/15/2019, 8:37 AM
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15. Find the vertical asympt;tég‘if any, and the values of x corresponding to holes, if any, of the graph of the rational function.
3 Ry X (1) =0
x(x-1) X< o X~—{

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (Type an equation. Use a
comma to separate answers as needed.) @ O ya [ / o'l s /

) A. The vertical asymptote(s) is(are) and hole(s) corresponding to @

(O B. The vertical asymptote(s) is(are) . There are no hales.

h{x) =

(0 €. There are no vertical asymptotes but there is{are) hole(s) corresponding to

) D. There are no discontinuities.

A sker
Answer. B. The vertical asymptote(s) |s(are) x=1,x=0 . There are no holes. V// .//
e ———— S —
e/ 4// G S g o 4o = ﬁ /r — / ‘
ID: 3.5.23 QLC’[_,___Z?_LJ /‘xﬁ% _J
e SEe—— - ——— —_—
16. Find the horizontal asr-rr_lm-_hu_'rﬂ:'lf any, of the graph of the rational function. {? / &
. 14x 413 S (e 1 / T il ®
= - i
7% +6 )(_990 (e " X_‘PW 7{ —~+ (L ‘(-._70/ X
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / C/ o
L,
_ /O
) A. The horizontal asymptote is . {Type an equation.) /Y
) B. There is no horizontal asymptote. —-7" =

Answer: A, The hofizo

’Lua_mptote is y=2 ! . (Type an equation.)
X”,:L"o\ Gier aontd @ymplle. @M,f_ .

..-"

ID: 3.5.39

17. Use properties of logarithms ﬁ_e"_i“gi@he logarlthmlc expressmn as much as po ble Evaluate Ioganthmlc expressions

without using a calculatar if pussiblg) %" (' y {_[,/5 {/ +3) -

,’Qi_f'] A (X7) —c-/@nﬁ’— 7 (;(ﬂ)c

(x+3)°

[JZ_E‘ ] ATt (i) t_ A/ )
" —— b+ LR 73— 5 (rrs) -

Answer:7ln x+lln_[x2+3 : 5In(x+3)//4'//"'b&_h &M Sf-.,r-f’f
ZY By A Iy )V

_ (6/ _/ﬁn//—bé’”/a/ \
( A =~ wihad)

(x+3)°

ID: 4.3.37

W oAF AT
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_'_,__._,_._.——

18. (Snlg; j,hgiqllowmg exponentlaLaquat;%y expressing each side as a power of the same base and then equating
exponents. ;,.Z/ X4 (5_?( .4 = —lx T =ty
- 2X7§ Ky &
25x+4=62 x=4 — . _
¥R LR T

The solution set is { } :.-'f.
2X7 §f = T Xt/ /

Answer: 12 Z)(r-(,z/ d’V_ C/)(.,——/C—fll
2x = nd

ID: 4.4.19 Zx’-Y)I"/”—Z’V"/

e

- F
= CAeele
19. (Solve ti_'l_e_lgganthrmc eg_uatlan Be sure to reject any value of x that is not in the domai {u’of the original logarithmic
expressions. Give the exactanswer.y 5, (X —3 )t Cuj é('fl) s o3 (;(_'5)-;‘(,0) (A#1) =35

log,(x-3)+ logy(x+1}=5 ﬁoj (X~ 32),6’") - C“ (':0;2( bgte 3)‘1‘60/ (“5*'('}
< -3 (6 pd I
Select th t ch bel d, if fill i th box t t h
elect the correct choice below and, if necessary, fill in the answer box ocomReeyourc oice. o /(p) =

37 = Xt 't'f>(—3’/"' los, (-3} T Ii/i‘-

() A. The solution set is { 32 ¥ L_7¢—~ 3 LA D
{Simplify your answer. Use a comma to separate answers as needed.) - or - ) =
() B. There is no solution. O = )( —I(~3-5 L \ Ca‘?l (7 3) 4 oL (7 /

o -3+ Cor, ff)—-féw Wﬂ
Answer: A. The solution set is { PO T g( — 5“)6( -.7) ) ( éuo/

{Simplify your answer. Use a comma to separate answers as needed. )

X—<—=0o 01 1=
X—ey—s= 0— rd{{ X’-7+7 d?‘?

ua: 4.469 :ﬁ:& X = 7

20<_Solve the logarithmic. equation. Be sure fo reject any v lue of X that is not in the domain of the 'o/rlgqnal logarithmic
expressions. Give the exacl answer. ZO
7 ‘r

_/
5

log 4(x+7) = log 4(x=8)=2

Select the correct choice below and, if necessary, t’ Il in the nswer box to complete your cho%e
16, A+7
O A. The solution setis { Y/ X—F

(Simplify your answer. Use a comma to separate answers as needed. k iy, M.ﬁ/ﬂf'

) B, There is no solution. /G "f/ [6( 7)
,___ [C‘x'—(&ﬂ:’((—f7
Answer: A. The solution set is

(Simplify your answer. Use a comma to sega rate apswers as needed.) C A d <

(6 —(247 (#7=(X~77(1F )
ID: 4.4.71 /6 X=X+ 13 r_
 fox XS X [~ éﬁ,ﬂlﬁJﬁéﬁ;—& ) =2
[sxX —[35 [aj (%ﬁ?)—Caj [7“77) -
Lsx — O 5%(/6)—-4% (:)%

/5" /0

ol T3
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21. Complete the tablg f t subject t di (A /SMMA/
. Complete the table for a savings accpunt subjectto ¢ us compoundin
% ¥ K} s ey <
(a=pe") /f000 = 9 500 e

Amount Invested Annual Interest Rate Accumulated Amount Time t in years
$9500 5% $19,000 ?

Let A represent the accumulated amount, P the amount lnvested r the annual interest rate, and t the time. Find the time, t.

T Jyeas ST igjf 2 () z05¢
(Round to one decimal place as needed.) jH 2
= e 05 J O 5
LOS
Answer: 13,8 ( 2) /2, (6 {/ . p/gu ‘

()= 05 € 3.06059%%) =
ID: 4.4.111 /@4 (Z_)': 0S5 é/

T i

22. Solve the given system of equations. Z/L/ D /47 441*/ )< C’cl A

x+y+5z= 1

x+y+6z= 2 “-,
x+8y +62= - 12 [A] [: 5 i JE

Select the correct choice below and | fill in & ary answer arswer boxes within » your choice.

A. There is one solution. The solution set is

{( \ . }}. (Simplify your answers.) Go
B. There are infinitely many solutions,
pmest Lyreé

C. Thereis no solution. 7 .~ O/ /1/( Ll//)(
Answer: A, V re /[ C (;4}) = Tu L»/

There is one solution. The solution set is { (| -2 i . 1 1} (Simplify your
answers.}

ID:5.25

120f13 6/15/2019. 8:37 AM
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23. Write the first four terms of the sequence whos eral term is given.
Coi
" nes—

a,= {Simplify your answer.)
a, = f_—-_ {Simplify your answer.)
a,= I_] (Simplify your answer.)
a,= r—__] {Simplify your answer.)

Answersz
9
) aafz(?,) -
5 27§
6
T (= LB -
% 2ty

Find the indicated sum. Z kik + 2}
k=1

(1) + 2(2rt) —+ 3(3r2) + Y (41) T (+7re)=

+2)= Simplify your answer.
e T T )+ 6 -H?’?)/)
34 § v (v 7+ LY S5 =

Answer: 85

' / WSe & jﬂ»ﬂh—g /ci,(i
ID- 8.1.33 /%Afjwey ScvnaA

e SR T

25. Use th"lg_ljomlal theor e blnormal

w GBS CO¥ v Cy S g(c—sz(_f

(2x - 3)3 = | {Simplify your answer.}

Answer: gy — 36x% + 54x ~ 37 [Z < )(3)_1_ (}(&)(1) -f (/([) (——Z 7)b
ID: 8513()((/5}752))(([))(222(_//%(2)[3/ “f/)/(zx)// ‘f‘(/((/}??)"

@{ 2 _3¢x St 59X -27\/}4/Sbv//

_._q—-r-—"-""-_*-_-_._-_-
130f 13 —————— 6/15/2019, 8:37 AM




